SHAHABAD DUGDH UTPADAK SAHKARI SANGH LTD.

शाहाबाद दुग्ध उत्पादक सहकारी संघ लि0 आरा डेयरी, आरा, कतीरा, आरा– 802301, ई–मेल–<u>aradairyara@gmail.com</u>

निविदा सूचना

शादुसंः अभि0:2715

दिनांक :28.06.2025

निम्नलिखित कार्यों के लिए वैसे संवेदक जिनका निबंधन बिहार सरकार के भवन निर्माण विभाग/ग्रामीण कार्य विभाग/जल संसाधन विभाग या कॉम्फेड के समुचित श्रेणी में है, से मुहरबन्द निविदाएँ आमंत्रित की जाती है। कॉम्फेड को छोड़कर अन्य विभागों में निबंधित संवेदकों को परिमाण विपत्र के क्रय के समय यह साक्ष्य जमा करना होगा कि उनके द्वारा विगत चार वर्षों में नीचे उल्लिखित कार्यों के लागत का जिसके लिए निविदा दे रहे है या उससे अधिक का कम से कम दो अलग–अलग समान प्रकृति का कार्य अवश्य पूरा किया गया हो। इस साक्ष्य के आभाव में परिमाण विपत्र निर्गत नही किया जाएगा।

परिमाण विपत्र अद्योहस्ताक्षरी के कार्यालय/शाहाबाद दुग्ध उत्पादक सहकारी संघ लि0, आरा के वेव साइट (www.smusudhaara.com) से दिनांक 20.07.2025 के 3.00 बजे अपराहन तक क्रय किया जा सकता है। वेव साइट से डाउनलोड किये गए परिमाण विपत्र का मूल्य डिमाण्ड ड्राफ्ट के रूप में शाहाबाद दुग्ध उत्पादक सहकारी संघ लि0, आरा के नाम से देय होगा। निविदा निबंधित डाक या कुरियर द्वारा भेजे जाने पर ही स्वीकार की जाएगी। निविदा जमा करने की अंतिम तिथि 22.07.2025 के 3.00 बजे अपराहन तक होगी। प्राप्त निविदाएँ निविदादाता या उनके प्रतिनिधि के समक्ष दिनांक 22.07.2025 को 3.30 बजे अपराहन मे खोली जाएगी। विलम्ब से प्राप्त निविदा के लिए शाहाबाद जिम्मेवार नहीं होगा। कॉम्फेड के संवेदकों को छोड़कर अन्य संवेदको को निविदा प्रपत्र के साथ सभी कागजात यथा जी0एस0टी0, पैन निबंधन, मुगतान प्रमाण–पत्र, राजपत्रित पदाधिकारी द्वारा आभिप्रमाणित प्रति संलग्न करना होगा अन्यथा इसके अमाव में निविदा पर विचार नही किया जाएगा। निविदा की तिथि बढ़ाने या रद्द करने का अधिकार शाहाबाद दुग्ध उत्पादक सहकारी संघ लि0, आरा को सुरक्षित रहेगा।

क्र0		प्राक्कलित	अग्रधन की	परिमाण विपत्र	कार्य
सं0	कार्य का नाम	राशि (रू0 में)	राशि (रू0 में)	का	समाप्ति की
				(मूल्य रू0 में)	अवधि
1.	Construction of CIP Kitchen at SMU, Ara.	5,28,099.00	10,562.00	1,250.00	01 (One) Month

प्रबंध निदेशक



- Sealed tender on prescribed B.O.Q to be eventually drawn in P.W.D. Form- F2 will be received from the Registered Contractors of Building Construction Dept Govt. of Bihar/ RWD/ Water Resources Department, Govt. of Bihar & Comfed up to <u>22.07.2025 on 3.00</u> <u>PM.</u> by the Incharge (Engg.), <u>SHAHABAD DUGDH UTPADAK SAHKARI SANGH LTD</u>. for the work of Construction of CIP Kitchen at SMU, Ara and will be opened in the presence of the tenderers or their authorized agents on the same date <u>22.07.2025 at 3.30 PM.</u>
- 2. Tenderes should complete the work within <u>**01 Month**</u> commencing from the date of receipt of written order to commence the work.
- 3. Tenderers are requested to deposit earnest money at the rate of Rs. 100/- (One hundred) for every Rs. 5000/- or part on the amount of estimate. The earnest money is to be deposited in shape on NSC duly pledged to the <u>SHAHABAD DUGDH UTPADAK</u> <u>SAHKARI SANGH LTD.</u> & Bank Draft in-favour of the <u>SHAHABAD DUGDH UTPADAK</u> <u>SAHKARI SANGH LTD. payable at Ara</u> will also be accepted.
- 4. The plan, elevation and specification for the work can be seen at the officer of the Incharge (Engg.) during the working hour and day.
- 5. All other information can be obtained on application from the Incharge (Engg.).
- 6. The authority reserves the right to reject any or all the tender received without assigning any reason there-of.
- 7. The earnest money of the successful tenderer which accompanies the tender will be forfeited in case he declines to sign. The agreement/contractor to deposit balance security within ten days of being called upon to do so after the acceptance of his tender.
- 8. The amount of estimate is Rs. <u>5,28,099.00/-</u>
- 9. The rates should be inclusive of all materials. The tenderer should also indicate the rebate they will allow if levy cement @ Rs. <u>Nil</u> per bag either in full or part is arranged for the work.
- The bill of quantity for the work can be had as per tender notice from the office of the Incharge (Engg.) during working hours and days on payment of Rs. <u>1,250.00</u> (non refundable).
- 11. Up- date I.T.C. & other documents as per tender notice should be attached with tender other- wise it is liable to be rejected.
- 12. The contractor must note his registration no./category of Registration and office in which registered distinctly.
- 13. The tendered should furnish his full postal address so that any latter at his given postal address will be deemed to have been received by him.

Signature of Contractor

Managing Director

SPECIAL CONDITION FOR THE WORK

_____Nil_____ _____Nil_____

1. No claim will be entertained due to idle labour and/any or and other cause.

2. levy cement if supplied by the Union will be at the rate noted below :-

a. Cement ______N.A_____

Place of delivery

_____N.A_____

- 3. The contractor will have to provide huts for the labourers at his own cost and will have to observe all labour rules including observance of the minimum labour waged.
- 4. After completion of work, the side of the work will have to be cleared off from all rubbish and un-used materials for which no extra payment will be made.
- 5. Time of completion of the work is **<u>One Month</u>** from the date of issue of work order. However the contractor may quote his own line of completion.
- 6. The contractor employing motor vehicles should follow rules with regard to motor vehicles.
- 7. For excess consumption of the Union materials over the actual requirement, recovery will be made at panel rate i.e. double of issue rate.
- 8. Only kiln burnt bricks will have to be used by the contractor in construction of work.
- 9. The contractor will be liable to pay compensation under the work-man's Act for accident or less of life, if any.
- 10. The contractor will be have to maintain site order book on the site of work exhibitable to inspecting officers any time on demand.
- 11. All works shall be carried out in workmanship like manner and as per standard specification of the Union.
- 12. The authority reseveres the right on distribution of work among several contractors.
- 13. Two percent (2%) Income Tax, 5% Security and Sales Tax/GST (Good Service Taxes) as per rule will be deducted from all payments (Gross amount).
- 14. The tenderers are presumed to have inspected the site and acquainted himself with the local condition of the work and no claim due to ignorance these conditions and also site conditions will be entertained.
- 15. No claim will be entertained for fluctuation of the rates of labour/materials and carriage at any stage of work under progress.

- 16. Items of work beyond agreement shall not be executed by the contractor, if this becomes a necessity, written order of Engineer In-charge should be obtained before taking up such works. Such items shall ordinarily be paid at schedule of rate. However, Contractor may prefer a claim before taking up such works and await decision of rates by the competent authority.
- 17. Quantity of work may increases or decrease in accordance with the order of E/I.
- 18. Contractor will assist supervision of work, measurement and verification of bills by the officers of the Union and will mend good any items damaged in course of inspection, measurement and verification of work.
- 19. Site shall be cleared and kept clean by the contractor at their own cost during completion of work.
- 20. Foundation trench shall have to be kept dry during the execution of work & de-watering can be ordered by the E/I if necessary.
- 21. Only LAFARGE, A.C.C, PRISM, L & T & GRASIM cement will be used.

Managing Director SMU,ARA

SOR No.	Discription	Unit	Total Qty.	Rate (Rs)	Amount (Rs.)
15.3	Demolishing R.C.C. work including stacking of steel bars and disposal of unserviceable material withing 50 metres lead:	CuM	1.080	1411.200	1524.096
6.1A	Brick work with bricks of class designation 100A in foundations and plinth in :				
6.1.14A	Cement mortar 1:6 (1 cement: 6 coarse sand)	CuM	16.300	4819.900	78564.370
6.3A	Extra for Brick work in superstructure above plinth level upto floor V cum	CuM	16.300	842.200	13727.860
5.33A	Providing and laying in position machine batched, machine mixed and machine vibrated design mix cement concrete of specified grade for reinforced cement concrete structural elements, excluding the cost of centring, shuttering finishing and reinforcement, M-20 grde reinforcd cement concrete				
5.33A.2 5.33.A.2.1	All work above Plinth level upto floor V Level. Walls columns, pillars, posts cind struts	CuM	1.268	5293.500	6712.16
5.9	Centring and shuttering including strutting, propping etc. and removal of form for.	Culli	1.200	02,0,000	0/12/10
5.9.5	Lintels, beams, plinth beams, girders, bressumers and cantilevers.	SqM	10.140	404.700	4103.66
5.22	Reinforcement for R.C.C work including straightening, cutting, bending, placing in position and binding all complete.				
5.22.7A	Thermo-Mechanically Treated bars TMTC-500-8mm dia	Kg	46.2	94.50	4365.90
5.22.7R	Thermo-Mechanically Treated bars TMTC-500-10mm dia	Kg	83.42	92.60	7724.69
13.11	12mm cement plaster of mix:				
13.11.2	1:4(1 cement: 4 coarse sand)	SqM	148.990	152.900	22780.571
11.21	Providing and fixing 10 mm thick acid and / or alkali resistant tiles of approved make and colour using acid and / or alkali resisting mortar bedding, and joints filled with acid and / or alkali resisting cement as per IS : 4457, complete as per the direction of Engineer-in-Charge.				
11.21.1	In flooring on a bed of 10 mm thick mortar 1:4 (1 acid proof cement : 4 coarse sand).				
11.21.1.1	Acid and alkali resistant tile.	SqM	86.300	1295.700	111818.91
11.36	Providing and fixing 1st quality ceramic glazed wall tiles conforming to IS:15622(thickness to be specified by the manufacture) of approved make in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer-in-Charge in skirting, risers of steps and dados over 12mm thick bed of cement Mortar 1:3(1 cement: 3 coarse sand) and jointing with grey cement slurry @ 3.3 kg per sqm including pointing in white cement mixed with pigment of matching shade complete.	SqM	53.400	795.000	42453.000
13.78	Applying one coat of cement primer of approved brand and manufacture on wall surface:				
13.78.1	Cement primer	SqM	95.590	38.600	3689.774
13.92	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade:	-			
13.92.1	Two or more coats on new work	SqM	95.590	86.400	8258.976
10.32	Steel work welded in built up sections/ framed worK including cutting hoisting, rixing in position and applying a priming coat of approved steel primer using structural steel, etc. as required.				
10.32.2	In gratings, frames, guard bar, ladders, railings, brackts. gates & similar works.	Kg	23.400	114.600	2681.640
9.20	Providing and fixing ISI marked flush door shutters conforming to IS : 2202 (Part I) decorative type, core of block board construction with frame of 1st class hard wood and well matched teak 3 ply veneering with vertical grains or cross bands and face veneers on both faces of shutters.				
9.20.2	30 mm thick including stainless steel butt hinges with necessary screws	SqM	2.400	2578.000	6187.200
9.62	Providing and fixing ISI marked oxidised M.S. sliding door bolts with nuts and screws etc. complete :				
	200.16	Each	1.000	169.000	169.000
9.62.1	300x16 mm				
9.62.1 9.63	Providing and fixing ISI marked oxidised M.S. tower bolt black finish, (Barrel type) with necessary screws etc. complete:				
	Providing and fixing ISI marked oxidised M.S. tower bolt black finish,	Each	2.000	70.100	140.200
9.63	Providing and fixing ISI marked oxidised M.S. tower bolt black finish, (Barrel type) with necessary screws etc. complete:	Each	2.000	70.100	140.200

BOQ of CIP Kitchen (converted from tanker loading & unloading) at Ara Dairy, Ara, (SOR 2022)

10.16	Steel work in built up tubular (round, square or rectangular hollow tubes etc.) trusses etc., including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer, including welding and bolted with special shaped washers etc. complete				
10.16.1	Hot finished welded type tubes	Kg	635.884	123.9	78786.028
12.50	Providing and fixing precoated galvanised iron profile sheets (size, shape and pitch of corrugation as approved by Engineer-in-charge) 0.50 mm (+ 0.05 %) total coated th. with zinc coating 120 grams per sqm as per IS: 277, in 240 mpa steel grade, 5-7 microns epoxy primer on both side of the sheet and polyester top coat 15-18 microns. Sheet should have protective guard film of 25 microns minimum to avoid scratches during transportation and should be supplied in single length upto 12 metre or as desired by Engineer-in-charge. The sheet shall be fixed using self drilling /self tapping screws of size (5.5x 55mm) with EPDM seal, complete upto any pitch in horizontal/ vertical or curved surfaces, excluding the cost of purlins, rafters and trusses and including cutting to size and shape wherever required.	SqM	135.800	625.10	84888.580
	Carriage Of Material				
a)	Bricks 100A (Lead 1 kutcha+7 pucca)	‰ No.	8052.000	1053.350	8481.574
b)	Coarse sand from Koilwar, lead-71 km	Cum	10.418	566.57	5902.526
c)	Stone Chips from Manpur (Gaya) lead 130 km	Cum	1.090	3218.29	3507.936
d)	Steel 5km	MT	0.130	518.09	67.352
e)	Cement 5km	MT	3.142	518.09	1627.839
	Difference Of Cost				
a)	Cement	MT	3.142	262.770	825.623
b)	Bricks 100A	‰ No.	8052.000	270.57	2178.630
Total (Rs)					501232.89
Add G.S.T. @5.36% as per PWD Govt. of bihar Notification No 5751 dated 18.07.2023 Considering 18% GST					26866.083
Grand Total (Rs)					528098.98
R.O.					528099

I am agreed

.....Below on the estimated cost

.....Above on the estimated cost

.....On the estimated cost

Bidder Signature

Managing Director